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Question Number : 1 Question Id : 5447341441 Display Question Number : Yes Is Question
Mandatory : No

Iff:R— R isdefinedas f(x+y) = f(x) + f(y) Vx,y € Rand f(1) = 5. then find the
value of the following: Y—, f(r) =?

f:R - R 9aird) fx +y) = f(x) + f(y) Vx,y € R Sodok f(1) = 5 8GR
Y flr) a8y DD
Options :

Sn(n+1)

1.¢ 2

n(n—1)
2

Sn(n—1)
3. 2

n(nt+1)
4% 2

Question Number : 2 Question Id : 5447341442 Display Question Number : Yes Is Question

Mandatory : No
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; : ; : x—2
What 1s the range the function h(x) = o 7
X
- S ”
hix) = 22003 I A7
x+3 "
Options :

e C2,2 U@, o)

4 % (2, ~DU(-1,2)

Question Number : 3 Question Id : 5447341443 Display Question Number : Yes Is Question

Mandatory : No

Define f: R — R by f(x) = cos(Tan"*(sin(Tan"! x))). then lim (fof) x =
f:R = R & f(x) = cos(Tan"*(sin(Tan"* x))) 7 DGR lim (fof) x =

Options :
3

1 *-J':; 2 -"q'll'g

e
3

2. %

2
3. % N3
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2

4. % 3\.-"5

Question Number : 4 Question Id : 5447341444 Display Question Number : Yes Is Question
Mandatory : No

1 3

If A 1s a matrix l U _then A" = . |.¥neEN
T 1 n 1

1 0 1 0
A:[_l 1]@5&:@5&?@5@0&3@.14“:[” l].‘v’nEN

Options :

not true forn = 3
n = 3 8 J&2 57D

not true forn = 2
n = 2 ) J23 5°¢

true forn = 3
n =238 Jdasw

nottrueforn =1

4 % n =1 % Q200 5D

Question Number : 5 Question Id : 5447341445 Display Question Number : Yes Is Question
Mandatory : No
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The number of solutions of the following system of linear homogenous equations
i—y3+z=0x+2y-5=0 2x+y132=10 iz

X—y+2=0x+2y—z=0, 2x+y+3z=0 &3 3DaD PE6e 208 ot

FoTo o

Options :

1.v 1

Countable infinite
3 % ﬁﬁgjﬁé;’)‘l e9a)0eha0)

Uncountable
4 % ESGEJE@:}

Question Number : 6 Question Id : 5447341446 Display Question Number : Yes Is Question
Mandatory : No

The system of equations x + 2v = 3. 3x + 6y = a — 2 has no solution

X+ 2y =3.3x+6y = a— 2 DDECRH DV IG5 B

Options :
1% FEd =91

If a=-9

g Ha+9
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4 H a1

Question Number : 7 Question Id : 5447341447 Display Question Number : Yes Is Question
Mandatory : No

If each element, of a determimant of third order with value A. 1s multiplied by 3. then the value of

newly formed determinant is

A Do Adso fio 2 rdd 610 Arged’ 98 Survtiniy 3 & e 6\ §9
A7ge Aoy dewd)

Options :
1. % 34

, w94

3 v 274

4 % —27A

Question Number : 8 Question Id : 5447341448 Display Question Number : Yes Is Question
Mandatory : No

2% cos2x

cos2x sin
sin?x  cos2x cosix

c0s2x cos’x cos2x

If the determmant is expanded in powers of cos x . then the constant term

i the expansion is

2

cos2x sin“x cos2x
sinfy cos2y cosiy|®m :Jg’d‘s“:)l oS X 011)% rddnod’ :.)'{gﬁoi‘)é:})da ;ﬁ;) %)0 D00
052X 0s°X Cos2x

Options :
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Question Number : 9 Question Id : 5447341449 Display Question Number : Yes Is Question
Mandatory : No

il 3 X X X . o
LetA = 4 _3) LetS=1{|y|€E R%/A v|= 3 |y | ¢ what is the cardinality of S ?
: I X X X
A= SoBcin § =1 |, |ER*/A] | =3 &5 &ofl AreginY Roa(?
4 = ) ; y
Options:
1% 1

Countably infinite

e9 08500 ejsb::eﬁ Focaaém
2. % =

|S] = 1 but S is finite

_ S HBdAw 08 |5 =1

Uncountable

S DLTID
4.9 °
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Question Number : 10 Question Id : 5447341450 Display Question Number : Yes Is Question
Mandatory : No
i3 5

i

Which of the following is a fourth root of 5 +

1 i3
& 808 T8 DB — +% T0E), 4 3 JoreRn BB

Options :

: T
cis —
1.¢ 12

Question Number : 11 Question Id : 5447341451 Display Question Number : Yes Is Question
Mandatory : No

10 are 11 roots of unity. then product of these roots is ‘1’

K1 @, 6, .. @
100" wl ey’ g, 11 & Sureren wowd, & durere 022500
Options :

1. i@ (o

2 % —1

3w 1
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433(4’_]2

Question Number : 12 Question Id : 5447341452 Display Question Number : Yes Is Question
Mandatory : No

Let S be the set of all quadratic equations of the form x2 + bx + ¢ = 0 where b,c €
{1,2,3,4,5,6}. If an equation is selected at random from S, then the probability that the

equation has real roofs 1s

been{1,2,3,4,5,6) & Sod saresen 280k § S 6rdane’ éod 12 + by +¢ =0
56 DREOTL WY, BN § Mol QPGSO 8 VDS Brodod 9
J0PUrO) GoGTFRS RoEr(S

Options:
9

| % 12

9

> % 36

19

3. ¢ 36

4 % 36

Question Number : 13 Question Id : 5447341453 Display Question Number : Yes Is Question
Mandatory : No
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: S I
Ifa, B, y are the roots of the equation x° + 3x* — 7x + 5 = 0. then the value of e # E + ? 1s

1 1 1
4307 = 704+ 5 = 0 86 d a, B, y o Aurergd PR Dews Jod?

Options :
el
1.% 5

.
2.&# O

_n
3. % °

3
4. %

Question Number : 14 Question Id : 5447341454 Display Question Number : Yes Is Question
Mandatory : No

g 3 2 ¥ :
The condition that x™ — px~ + gx — r = 0 may have two of its roots equal to each other but of
opposite sign 1s

X = pr’ 4 qx = 1 = 0 REDEOTFS Toth Jurerey AP, DOS) e A &ob,

Options :
e P4

3
5 % r=2p +pq

. % T=P"q
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4.8T=DPQq

Question Number : 15 Question Id : 5447341455 Display Question Number : Yes Is Question
Mandatory : No

% 0 0
o & 1| 2 "

Sum of the roots of the equation 0 x 0o ol 0 0 x—1|=01s
2 m gz gl A A D

2 PDEBETIS Arery DS

Question Number : 16 Question Id : 5447341456 Display Question Number : Yes Is Question
Mandatory : No

In an examination, a student has to write exams in 8 different subjects. He 1s declared fail if he fails

m at least one subject. The number of ways m which he can fail 15

28 DOEL MdotioBow) AEF( 8 9¥) TV T Talrd. O ag) 93) HBIW AL LT
&3 5)@52 2058" Dow2aNHE. wand ¢ 3);5“52 208" DDA AT Do ___

Options :
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| u 127
, % 256

3. v 255

Question Number : 17 Question Id : 5447341457 Display Question Number : Yes Is Question
Mandatory : No

I8, ?PT =TF. BPT_l . what 1s the value of ‘1’7

8.7P. =7.%P,_1 ©and T Dend Jodd?

Options :
1 % 3 & 4

, % 2 &5

L% 4 &S

No solution (No such ‘¥’ exists)

y DD T (e9tHold 1 a?gafg@o 5°¢0)

Question Number : 18 Question Id : 5447341458 Display Question Number : Yes Is Question
Mandatory : No
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7 relatives of a man comprises 4 ladies and 3 gentlemen. His wife also has 7 relatives — 3 of
them are ladies and 4 are gentlemen. In how many ways can they invite a dinner party of 3

ladies and 3 gentlemen so that there are 3 of man’s relative and 3 of wife’s relative?

W8 bééé (0 7 A& B30Gue” 4 M ;‘;}w 200030 3 S008 YALWY SV VS TG
(10 36 Troth oGoB’ S0ME eo 206aHo Teur S0 YAiNL Su. #8
momeﬁsan@‘ 3B, & uomag:imﬁ S0l S 0E0TT 2.8 B 2I303% SIS
QOR) A0 ARV ) Dgdwe Ao,

Options:

, % 500
5 x 486

4 % 102

Question Number : 19 Question Id : 5447341459 Display Question Number : Yes Is Question
Mandatory : No

2
X

The partial fraction of 7o —

2
X

B e A Jis DT ITT™ TR,
Options :

—16 1
5{x+4j+5(x—1)

1+
1.4

® 1+x+4+x—1
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T .
3 % S5(x+4) 5(x—1)
s n 1
% x+ 4 ¥ i

Question Number : 20 Question Id : 5447341460 Display Question Number : Yes Is Question
Mandatory : No

(1 —tan348°)(1 + cot417°) =

Options :

Question Number : 21 Question Id : 5447341461 Display Question Number : Yes Is Question

Mandatory : No
If 0<f < % and sin & cos @ = o then sin* @ + cos* @ =

12
U{j&{f%ﬁasinﬂmsﬂ:E@mé sin* @ + cos* @ =

Options :
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327

337
, o 625

. 625

Question Number : 22 Question Id : 5447341462 Display Question Number : Yes Is Question
Mandatory : No

In a triangle AABC. if tan(A/2) ,tan(B/2), tan(C/2) are m Arithmetic progression, then
which of the following option 1s always correct?

820230 ABC &, tan(4/2) ,tan(B/2),tan(C/2) ©0$3685° &otd, & §08 Joagees’
DO EP DB 2B ?

Options :

cos 4, cos B, cos C are in Arithmetic Progression

cos 4,cos B, cosC e0838e5" &™) o
1.4

cos 4,cos B, cos C are i Geometric Progression
cos 4,cos B, cosC readdes &T7)

cos A4, cos B, cos € are in harmonic Progression
cos A,cos B,cosC WT@&S@&.@G &) Q0
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No conclusion can be made with given data
, AIWED BT30S DB DFoewT AW

Question Number : 23 Question Id : 5447341463 Display Question Number : Yes Is Question
Mandatory : No

, e o4 12 _1 4 _1 63
What is the value of Sin™1 — + Cos™ 1 = + Tan1 —=

;i A g n B8
Sin 13 + Cos™ 1 — + Tan 1 —— DDDH DATIHG

Options :

1.¢

Question Number : 24 Question Id : 5447341464 Display Question Number : Yes Is Question
Mandatory : No

Leta,b,c denote the lengths of sides of BC,CA, AB of AABC. In A ABC. £BAC =
30°, £ABC = 60°Thena : bh:cis

a,b,c e 8goasan ABC & BC,CA, AB Zdad00 TEden Arddron. LBAC =
30° LABC = 60° @008 @ i b i ¢ 8 AATFADIG

Options :
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Question Number : 25 Question Id : 5447341465 Display Question Number : Yes Is Question
Mandatory : No

s
In a triangle ABC.ifb=2,c=3and £B = & then ‘a’ satisfies the equation

m
28 8oua ABC & b =2,c =3 HBosw £B = ) ead. ‘a’ ¢yHndd SDE6EAN

Options :

| 2 @ +3V3a+5=0
2. % a*+3V3a—5=0
3_{‘,&2—3&-'?:14-5 =4}

4 % V3a®+3a+5=0

Question Number : 26 Question Id : 5447341466 Display Question Number : Yes Is Question
Mandatory : No
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ImAABC.ifa:b:c=4:5:06 then the ratio between the circumradius and the inradius is
ABC zbadwd a:hic=4:5:6 wond & dan DB8ogas woddBemdd i W8
Options :

16

1. 7

16

4.% 7

Question Number : 27 Question Id : 5447341467 Display Question Number : Yes Is Question
Mandatory : No

The position vectors of A and B are (1 + j + k) and (% j +% ij) If ‘B divides the line AC
i the ratio 2 ¢ 1. then position vector of *C” is

4 50808 B Docoipe 3 w6900 oarr (1 + ] + &) dndaty (37 + %L) &0 0.
B Dodoi AC 21 1 di)86° d. ‘€ gy &3 064 07

Options :
1. % (%’ % U)
. (040)
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Question Number : 28 Question Id : 5447341468 Display Question Number : Yes Is Question
Mandatory : No

Leta,b andc are 3 non zero vectors such that no 2 of these are collinear. If vector @ + 2b
is collinear with ¢ and b + 3¢ is collinear with @ (A being some non-zero scalar) then @ +

2b +6¢ equals

b7 SrS88 DB#0E° D Dok wDaLrey b S08aky T +2b w68 T S, b +
3¢ 0% T S&P HODAD T +2D + 60 =

Options :
1 %A@
2 % AD

5 % AT

»
A
=1

Question Number : 29 Question Id : 5447341469 Display Question Number : Yes Is Question
Mandatory : No
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Which of the following points lie on the plane passing through 2 +3j — k,3i + 2/ + kand i + j + 4k ?
2043 —k,3i+2/+k 2800 i+ + 4k Dothadyw Mot JaD $wA ol Dotaen d?
Options:

2% 37 LAZE & ZidpA Lk
1. % 2

. 20— 3j+13k &2i+j+ 6k

2.
2i—3i 413k & 2Zi 4otk
qw T FrRl Ty
it 6k & 2i+ 2543k
4. % 2

Question Number : 30 Question Id : 5447341470 Display Question Number : Yes Is Question
Mandatory : No

If a, b—f are three vectors such that | a | = ‘ b I =2.7.h =2adT +b +7 = 0. then

| €| is equal to

T,h,Cwdnasw |T|=|b|=2.0.0 =250007 +b +7 = 0 eabyios | |
DenSE HATSDG

Options :

1.332

2.v 23

AP EAPCET 2021



AP EAPCET 2021

Question Number : 31 Question Id : 5447341471 Display Question Number : Yes Is Question
Mandatory : No

(u+2v-w). [(u-v)x(u-v-w)]

[u v w]

Let u, v and w are non-coplanar vectors. then the value of

is equal to

+20-w). Ju- -
U, v 080k W o) padairen T A% Bond Gl i s

a0, Q80D woch?

[u v w]

Options :

1. % 1

Question Number : 32 Question Id : 5447341472 Display Question Number : Yes Is Question
Mandatory : No

g 2 3
Let u and v be two non-zero vectors in R”. Then |u X v |+ | w. v |* 1s equal to

R* & u 080 v e Bocky 36 08%0and |u x v [ 4 [u.v|* & dardde

Options :

2 2
o a1l
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, % 2 |ul |v]

B g u
- lul® |v]

4w Clul + v

Question Number : 33 Question Id : 5447341473 Display Question Number : Yes Is Question
Mandatory : No

; v ol o .
Let u and v be non-collinear vectors m R*. Let w be the orthogonal projection vector of u on v,
Consider two statements:

; s i 3 ; w2
(1) Any vector in R® can be written as a linear combination of u and v

(1) w can be written as a linear combination of u and v as w = au + bv where both a and
b are nonzero real numbers.

u &Bao v &3 R’ & oPotren 5 pB. w &6 v P u G vor DDA

(1) R &° D %6% wona 1 B0k v © S SVONET TPaEwAD

(i) w &0 u 28050 v © DAL SVOET Tobrivsw, a,b w w:55e:§d TR “n:oaa5w
Options :

Both (i) and (ii) are true
- (i) sS0Bcdn (ii) &0 Q22

Only (i) 1s true, but (ii) 1s false
- (1) Sorady Q2230 Hofoi (1) A =°a

Only (ii) 1s true. but (i) 1s false
3 % (1) Srrgddn Q201 S08ain (i) Db 576
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Both (i) and (ii) are false
4% (1) 0dodw (ii) e Bk D22 5°&)

Question Number : 34 Question Id : 5447341474 Display Question Number : Yes Is Question
Mandatory : No

If for a distribution. Y(x — 5) = 3. Y.(x — 5)* = 43 and total no. of observations is 18, then
the variance of the distribution 1s

18 D030 v 1€ JeraTad Y(x—5) = 3. T(x —5)° = 43 ewond e QTR IS
Options :
| w 2.16

, % 3.16
3 v 2.36

4 % 3.36

Question Number : 35 Question Id : 5447341475 Display Question Number : Yes Is Question
Mandatory : No

The possible values of x if S.D of the numbers 2, 3, 2x and 11 is 3.5 1s equal to

2,3, 2x 2000k 11 Ddoadjw FAFHS DDVAA 3.5 0D 1 desw
Options :

5
A —
3

1. %
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Question Number : 36 Question Id : 5447341476 Display Question Number : Yes Is Question
Mandatory : No

Given P(4) = 0.5. P(B) = 0.4, P(AN B) = 0.3 then P(A4'/B’) is equal to

P(4) =0.5.P(B) = 0.4, P(AN B) = 0.3 ®ond P(A'/B') =

Question Number : 37 Question Id : 5447341477 Display Question Number : Yes Is Question

Mandatory : No
AP EAPCET 2021
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Two bolts. two nuts and three needles are in a box. Two parts are chosen at random from the
box. What 1s the probability that one 1s a bolt and one 1s a needle?

28 DO Toc €5'L0r0, Tocd SRV IBAK NP AT ET7) 0. CITE)TN ST
Dot DY & 28 Aok, é?&rﬁ@bm, 208 & o0 Toted® APt D0 “ﬂoe;"b?s@
Joeh?

Options :
2

3.v 21

12
« 21

Question Number : 38 Question Id : 5447341478 Display Question Number : Yes Is Question
Mandatory : No

Three students 4, B, C are running a race. A and B have the same probability of winning and
each 1s twice likely to win as €. Then the probability that B or € wins is equal to

(assuming there are no ties)

AB,C Dmégaw 28 DM Hodans” I DEXDT) 0. 6 oGS 4, B © Aoy
Pogrd{Be DDA B0 & Roard(d C fusRy VoI Btdox waNd & e’
B &r € fudeeds SN N
Options :

2
1% 5
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x.||w m|w

xlll\.'l

Question Number : 39 Question Id : 5447341479 Display Question Number : Yes Is Question
Mandatory : No

The probability of a man hitting a target is 3 the minimum number of times he must fire so

that the probability of litting the target at least once 15 more then 90 %

2
28 béé S OF) Bhod Rowra(d 5 %o w8 T UEf) Bhocrs 90 % sy
L) RogP(D ot €90 BN T SOVOY 269

Options :

1.% 6

2. ¢ 3

4. %

Question Number : 40 Question Id : 5447341480 Display Question Number : Yes Is Question
Mandatory : No
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For a binomial distribution with mean 6 and variance 2. Then the value of P(X = 8) is
w8 &G DeTRDED 206080 6 QS 2 ©and P(X = 8) dend Jdodh?

Options :

23

8
% O

Question Number : 41 Question Id : 5447341481 Display Question Number : Yes Is Question
Mandatory : No

A rod of length 21 slides with its ends on two perpendicular lines. then the locus of its mid-
point 1§

21 Tekipre 28 8¢ D6 Both) LorBHY ZEIAVD) LT ot &5 S¢, 206 Dot
Dot DG

Options :
: v EAyE= 17

, w X2—yr=1?

AP EAPCET 2021



AP EAPCET 2021

3 % 2x2 +2yr =12

4 % 2xt -2yt =17

Question Number : 42 Question Id : 5447341482 Display Question Number : Yes Is Question
Mandatory : No

If the axes are transformed to the point (=1, 1) then the equation 3x% + v? + 2x + 4y +
15 = 0 would transform to

OTV RAFSE HDBIGD T 2ureDoddindy P 968 P8y 3% +y% + 2x +
4y + 15 = 0 %d$0rs0 ), Errods PaDICHA SLYIW.

Options:

% 3427 —4x+6y+23=0
2 3-"52‘!‘}’2_41'-!'6_]-'-!-21:0

3 % 3xt+yvi+4xr—6y—21=0

n 3x2+yi4+4x+6y+21=0

Question Number : 43 Question Id : 5447341483 Display Question Number : Yes Is Question
Mandatory : No

Find the value of ‘k’, if the line joining the points (2, k) and (3 ,7) 1s parallel to the line
joining points (—2,1) and (3, 0).

(2,k) Sodoto (3,7) Dot §95 B, (—2,1) 2datn (3,0) DotdHes §95
D5 DATeSGAa ond, kT dend
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Options :
37
% B

34
5

Question Number : 44 Question Id : 5447341484 Display Question Number : Yes Is Question
Mandatory : No

The equation of a line though the point (1,2) whose distance from the point (3,1) has the greatest

value 15

(3,1) Dochre ool (10 ey €8, (1,2) Hocioey) ot Fab 106w B om0

Options :

1.4 F=Ex

5 % v=x+1
3 % X2y =5
48 Y= Fx-—1
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Question Number : 45 Question Id : 5447341485 Display Question Number : Yes Is Question
Mandatory : No

Identify the point on the line 2x + 3y + 7 = 0. which 1s at a distance of +3 units from (1,-3).

(1,-3) Dockoad) Aod 2x + 3y +7 = 0 wOFB0D +3 crA Ardod” &od Dot

QErHz

Options:

(Jﬁw—] —3-~.€’ﬁ+(})

L\ T

J1i3—9 =3f13<%
—

75 I V13

(«.!1——9 —31#13+5)
3 Jyi3 ' NEE]

(Jﬁﬂa 3J1_—+s)
L« \ VI3 ' Vi3

Question Number : 46 Question Id : 5447341486 Display Question Number : Yes Is Question
Mandatory : No

A person standing at the junction (crossing) of 2 straight paths represented by the equations
2x =3y +4=0and 3x + 4y — 5 = 0, wants to reach the path whose equation 1s 6x — 7y +

8 = 0 in the least time. then the equation of the path he should follow 1s

20-3y+4=0,3x+4y - 5= 0 2 ederen 2rdod 2 o STV & Aol w8
918 oDHeBd 6x — 7y + 8 = 0 Arded ArTA) VS 38D Tois’ 368 Tv
BROSIENT) (. B & 655% 9N BWDND 276 HeDE0RA0

Options :

1 % 119x — 102y — 125 =0
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2 119x + 102y — 125 =0
3 % 102x + 119y — 125 =0

4 % 102x + 119y + 125 =0

Question Number : 47 Question Id : 5447341487 Display Question Number : Yes Is Question
Mandatory : No

Which among the following represents the combined equation of a pair of lines through point

(1,0) and parallel to the lines represented by 2x% —xy —y* = 0.

(1,0) Dotk Moot e, 2x2 — xy — v = 0 HE0RAN Aroid Rowdaraiurm) 8
PiToBGoT ol REVBATaLI) RADEOHAY

Options :

1 % 2x2 —xy— 2y +dx —y=6

5 % e Xy — }12 —4dx—y+2=0

3 @ 2x2 —xy—yv?—4x+v+2=0

4% 2x2 —xv—y2 —4x—y=2

Question Number : 48 Question Id : 5447341488 Display Question Number : Yes Is Question

Mandatory : No
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The slopes of the lines represented by x? + 2hxy + 2y = 0 are in the ratio (1:2) then h =
X+ 2hxy + 2y% = 0 Arded Baw) e 1:2 A@Y" ol 1 =
Options :
L3

-+
1.% 2

3
fo—
2.¢ 2

3.2 11

4 % L3

Question Number : 49 Question Id : 5447341489 Display Question Number : Yes Is Question
Mandatory : No

Two of the lines represented by the equation ay* + bxy® + cx®y® + dx’y +ex* = 0 will be
perpendicular, then

ay* + bxy® + ex?y? + didy + ex?* = 0 2rDodd S’ Bocky Ben LIS
DOV ot Y6

Options :

1. ¢ (b+d)(ad+be) +(e—a)(a+c+e)=0

, % (b+d)(ad+be)+(e+a)(atc+e) =0

3 % (b—d)(ad —Dbe) + (e - a)’la+c+e)=0

4. % (b—d)(ad —be)+(e+a)(at+c+e)=0
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Question Number : 50 Question Id : 5447341490 Display Question Number : Yes Is Question
Mandatory : No

If the lines x% + 2xy — 35y% —4x + 44y — 12 =0 and 5x + ky —8 = 0 are concurrent
then *k” equals

X2+ 2xy — 35y — 4x + 44y — 12 = 0 S8k 5x + ky — 8 = 0 dovdne vdvagw
eowd. ‘k’ Ddewsd

Options :

1.“*“"34

Question Number : 51 Question Id : 5447341491 Display Question Number : Yes Is Question
Mandatory : No

If the lines x + 2y — 5 = 0 and 3x — y — 1 = 0 denote two diameters of a circle of radius 5

units. then the equation of the circle is

5 cfardl J’éb"go (i 28 B850 awE) Bocd TRV x + 2y — 5 = 0 Jobosw 3x -
¥ — 1= 0 &3 0ot 26¢GDe) APDD, 6 5BA0 FeDSCHAD

Options :

X2+ y?—2x+4y—20=0

1. %
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5 @ Xty —22—4y—20=0

3 x X +y?+2x—4y+20=0

4% X2 HY +2x+4y+20=0

Question Number : 52 Question Id : 5447341492 Display Question Number : Yes Is Question
Mandatory : No

The equation of polar of (1, 1) with respect to the circle x% + y2 +4x + 6y -3 =01
2 i ) o h)
Xy +4x+6y -3 =0 8w (ﬁgg“é (1,1) Dot a8, ()90 ReDSCE

Options:
1 % 2x+3y—1=0

L % 3x+4y+8=0

s x X +3y+2=0

4V 3x+4v+2=0

Question Number : 53 Question Id : 5447341493 Display Question Number : Yes Is Question
Mandatory : No

The equation of the circle which touches the x-axis and y-axis at the points (1,0) and (0,1)
respectively 1s

o) (1,0)36, y-omd) (01) 36 yhoid 38 2a0S6ma

Options :
AP EAPCET 2021
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x> +y?—4y+3=0

24yt —2y4+2=0

2. %
3 x ¥ +yi—2x-2y+2=0
4 w.x'2+_}’2—2.1'—2}-'-|-1:0

Question Number : 54 Question Id : 5447341494 Display Question Number : Yes Is Question
Mandatory : No

The equations of the tangent to the circle 5x% + 5y* = 1 parallel to the line 3x + 4y = 1 are

31 + 4y = 1 26VEDL PAFBBANT Gotur 5x° +5y% = 1 H5dd R0 0w edkf 28
RV

Options :
3x + 4y = 1245

)« Brddy =25
3. ¥ 'E"l —|— 8}?- = i-\-‘ﬁg

4 % 3x+4y=143V5

Question Number : 55 Question Id : 5447341495 Display Question Number : Yes Is Question
Mandatory : No
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The angle between circles x> + v + 2x + 4y + 1 =0and x> + y2 = 2x + 6y -3 =0 is:

A hy? 4204y +1= 03000 xF +y2 - 20+ 6y -3 = 0 o o) Smdoo

Options :

Question Number : 56 Question Id : 5447341496 Display Question Number : Yes Is Question
Mandatory : No

The locus of the centers of the circles that are passing through the intersection of the circles
' +yt=1land * +y* - 2x+y=0is

w4yt =1 5080d0 v + 37— 2v 4y = 0 3,570 Do Dot Mee T'ab Syzre
Solre) DotDGAD

Options :
a line whose equation is x 4+ 2y = 0

a circle

5 % 25 9o
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a parabola

3 % 208 DTTHALSL

a line whose equationis 2x —y = 0

4 % 2x —y = 0 2ot O

Question Number : 57 Question Id : 5447341497 Display Question Number : Yes Is Question
Mandatory : No

The equation of the directrix of parabola y> — x + 4y +5=01is

Y2 —x + 4y +5 = 0 HTI005TS 0 0RSTD DLDEGEAD

Options:
1. % 4y —3 =10

;% 3x—4=0
L 3y —4=0

Question Number : 58 Question Id : 5447341498 Display Question Number : Yes Is Question
Mandatory : No
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The equation of an ellipse in its standard form. given the distance between its foci is 2 vmits

. . B
and the length of its latus rectum 1 r units, 15

15
Tz 206 GPGo 2 e, Bk Tt Ffniy - e eond, & &gaaegan
GIg), HRVSGEAD

Options :
1. % 15x% +4y* =15

, x 4x° +15y% = 60

3 v 1527+ 16y? = 240

4 % 16x% +15y° = 40

Question Number : 59 Question Id : 5447341499 Display Question Number : Yes Is Question
Mandatory : No

If the latus rectum subtends a right angle at center of the hyperbola. then its eccentricity is:

28 ST HVANY E) TrRotlo, TFA) Sofdo ;3-:3 wow§’ s'r:}Q ‘&}dgﬁfg, es
V05V TS, &8) 03

Options :
V13

1
1.% 2

W5

3.¢

AP EAPCET 2021



AP EAPCET 2021

Question Number : 60 Question Id : 5447341500 Display Question Number : Yes Is Question
Mandatory : No

If the lengths of projections of a line of length ‘I* over the co-ordinate axes are [;. [, and I;
2 [—
g

respectively, then If +1 22 +1

AFHSEUR. ‘I TE (0 28 Bar Pocan aNE), DEFe SOV Iy, [, 28080 [; &
o3, 112 + l; + l; 0D
Options :
1 % 2l :
2. % 307
!Tz

3.¢

4 % S0

Question Number : 61 Question Id : 5447341501 Display Question Number : Yes Is Question
Mandatory : No
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If the direction ratios of two lines are given by 3lm —4ln+mn=0and [+ 2m 4 3n = 0.
then the angle between the lines is

Am—4in+mn=0208aw [+2m+3n=0 HOEdEFeD Both DOY0DL AS ma:w&u
Ardy, & Sa Sog| Sndw Sew)dn.

Options:
T

1.¢ 2

T
2. % 3

S

o | A

Question Number : 62 Question Id : 5447341502 Display Question Number : Yes Is Question
Mandatory : No

The perpendicular distance from origin to the plane x + 2y — 2z + 5 = 0 equals unnits.
20r0Dotdd) el 1 + 2y — 22 + 5 = 0 $erAS (L VoSN OV
Options :

S5
1.% 5
2.
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x_rj|r.n

] |

Question Number : 63 Question Id : 5447341503 Display Question Number : Yes Is Question
Mandatory : No

: (2 + sin x
i |“———— | =
x—w\ x?+3

Options :

1.¢ 0

Question Number : 64 Question Id : 5447341504 Display Question Number : Yes Is Question
Mandatory : No

1
If [ .] here denotes the greatest integer function. lim x7 [—3] =
x—0 X

1
BE), & (108 PTes HJAIE) TN LowS. J!l_l’l]ﬂ i [;] 2t

Options :

%1
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2. v 0
3 % —1

Does not exist

:%éiﬁjéuJEﬁﬁJ
4 % &

Question Number : 65 Question Id : 5447341505 Display Question Number : Yes Is Question
Mandatory : No

If lim {1+ xlog(1+ az)}“x = 2asin®8,a >0 and 6 € R. then

x=0

lim {1+ xlog(1+ az)}l‘fx =2asin®f#,a > 0 0a0d0 § € R eond

x—0
Options :

T
B=nx+t—. (A EZL)
1.9 2

m . )
8 =2nm+—; (nEZ)
2. ® 4

Question Number : 66 Question Id : 5447341506 Display Question Number : Yes Is Question
Mandatory : No
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The set of all points where the function f(x) = 2x|x]| is differentiable is

f(x) = 2x[x] &3 H200HAw D PSS’ ) DoEYY I BILVIIN VPSB!

Options :

) (=0,0) U (0,)
3. % (UJ U:')

4. % 10,%)

Question Number : 67 Question Id : 5447341507 Display Question Number : Yes Is Question
Mandatory : No

If p(x) is a polynomial of degree 3 which satisfies p”(1) = 0 and p"'(1) = 6. then p"(0) =

p(x) 80 28 3 S S80S evdd p"(1) = 0 2Bk p' (1) = 6 VR VedyNEXAD. BORR,
P”(G) e

Options :
1. % 6

2.v ~6

3.

AP EAPCET 2021



AP EAPCET 2021

Question Number : 68 Question Id : 5447341508 Display Question Number : Yes Is Question
Mandatory : No

¥ 3f(x)— 2f (%) = x, then f'(2) =

3F(x) — 2f (%) = x eawd, f/(2) =

Options :
1

1.¢ 2

Question Number : 69 Question Id : 5447341509 Display Question Number : Yes Is Question
Mandatory : No

If s = 60t — 5t denotes the distance covered by a particle in time ‘t", then the distance it
covers before coming to rest is umnits.

8 BHUSHAD AWE), 50 ArTe D[ Dot § = 60t - 5t2 AT, & S8
0frY) Ardaw $dodd TS ﬁmmfgeﬁ Totda.

Options:
1. = 120

, % 720

3 % 240
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4 v 180

Question Number : 70 Question Id : 5447341510 Display Question Number : Yes Is Question
Mandatory : No

If y =5x% 4+ 6x+6.x =2and Ax = 0.001. then the values of Ay and dy respectively are:

y =508+ 61 46, = 2 20800 Ax = 0.001 esond, Ay 208050 dy & DewSew SERIT:

Options:

1 = 0.026 & 0.026005

2_\_{,{].0260[}5 & 0.026

3 % 0.026005 & 0.26

0.0026 & 0.026

Question Number : 71 Question Id : 5447341511 Display Question Number : Yes Is Question
Mandatory : No

If the function f(x) = asin(x) + 35111(31) attains maximum value at x = 3 then ‘a

equals

. 1 .
X :% o6 f(x) = asin(x) + ?3'111{31]) D00HEW g 20320 £OR Godl. N ‘a’
DD

Options :

1.% 3
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Question Number : 72 Question Id : 5447341512 Display Question Number : Yes Is Question
Mandatory : No

2 1
The points o the curve y = 5 ¥4 5 x%, where the tangents make equal angles with

i

coordinate axes are

2 1
P - % 55209 D Dot 36 H38 6 Baen Woszod wirs v
Sodndy?

Options :

(l 5 % 1—1)
1@ 2’24) (_ "6
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Question Number : 73 Question Id : 5447341513 Display Question Number : Yes Is Question
Mandatory : No

Through the point (4, 5). a straight line is drawn making positive intercepts on the coordinate
axes. The area of the triangle thus formed is least. when the ratio of the intercepts on the x and

y axes I8

(4,5) Dotiosd) ot T'ad 28 REFED BTV GRd)E Wod6ErOR) A6yHT0b.
BN, & 69, vTod bdhba 82 PTUW s:):’.éo SHEPRS X, ¥ @Bty 8
T GotHTAD.

Options :
1 % L |

Question Number : 74 Question Id : 5447341514 Display Question Number : Yes Is Question
Mandatory : No

J cosy/x dx =

Options :

1 2vx sinyx + 2 cosvx + ¢

5 % 2y/xsinyx + 2siny/x + ¢
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. 2\ xsinyx —2cosvx + ¢
3_ 4

4 % Vxcosvx —2sinvx + ¢

Question Number : 75 Question Id : 5447341515 Display Question Number : Yes Is Question

Mandatory : No

P s | _ :
fj:ﬁ‘—l— : dx = f(x) + c¢,then f(x) =

AP y
J b el e eondiFls =

x*+1
Options :
1 T s S
Eme | Tan 1
kv V2x

2. ¢ ¥ Vex
1 1 — x2
T Tan_l( T )
3 % v 2 \.f'IZX
1 _3 ( 1+x* )
= lan —
4 % V2 \2x

Question Number : 76 Question Id : 5447341516 Display Question Number : Yes Is Question

Mandatory : No

AP EAPCET 2021



i 1 + cos(4x)
J cot(x) — tan(x)

J‘ 1+ cos(4x)

cot(x) — tan(x)

Options :
==k

Question Number : 77 Question Id

Mandatory : No

J‘ dx _
V7 —6x — x2

Options :

Sinh™?! ( Ii - ) +€

. Eog"r:?}‘-[—c

2.

AP EAPCET 2021

— dx = Acos(4x) + B ,then A =__

dx = Acos(4x) + B esonadd A =_

: 5447341517 Display Question Number : Yes Is Question
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¥+ 3
Sin_l(r4 )+f‘

L O e
— Sin Fie
4, % 2 4

Question Number : 78 Question Id : 5447341518 Display Question Number : Yes Is Question
Mandatory : No

4
If ’-x\, x2—1 dx = a(k)’ ,then af =
1

4
J Wt —lLdi= a‘(k}ﬁ o3, af =_
1

Options :
9

1. % 2

Question Number : 79 Question Id : 5447341519 Display Question Number : Yes Is Question
Mandatory : No
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1
J’ x-[rl)z dx =
0

Options:
£

1.232

£
——1
2.v 2

e
—i
3. % 2

Question Number : 80 Question Id : 5447341520 Display Question Number : Yes Is Question

Mandatory : No
. e .. WY )
Let y = Y(x) be the solution of the differential equation - +ytanx =2x +x“tanx, x €

-

(— 1) suchthat Y(0) =1,then
272

= d .
x€ (7?‘[ ,%) LY ay F ytanx = 2x + 1% tan x O3V HALGTIS FS y =¥ (x)
e[, V(0) = 1 eoodd. e

Options :
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Physics
SectionId : 54473429
Section Number : 2
Mandatory or Optional : Mandatory
Number of Questions : 40
Section Marks : 40

Enable Mark as Answered Mark for Review and

Yes
Clear Response:

Question Number : 81 Question Id : 5447341521 Display Question Number : Yes Is Question
Mandatory : No

The book “Pisces of Physics™ has been written by

“:.gfaf:u (5] 3::32@5’ DS JTiond
Options :
Newton

rﬁJ‘”&E&&
1. =

Einstein

29503
2.9 =
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Archimedes
) uézjmcifa
3 . W

Galileo

4« OB

Question Number : 82 Question Id : 5447341522 Display Question Number : Yes Is Question
Mandatory : No

Which quantity among the following has neither units nor dimensions?
& 808 T°0e5° DATTFL HB03L S T TFAHE T BT

Options:
Relative velocity
1 % FDE Do

Relative density
v FDE Fodd

2
Angle
5 « St
Energy
38

Question Number : 83 Question Id : 5447341523 Display Question Number : Yes Is Question

Mandatory : No

AP EAPCET 2021
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Acceleration of a body whose displacement follows the equation 3s = 9t + 5t is
k) %“é@oé:m 80w 3s = 9t 4 5¢2 R0V ) BB

Options :
5
1.% 3

3.v 3

4. %

Question Number : 84 Question Id : 5447341524 Display Question Number : Yes Is Question
Mandatory : No

When a body moves with a constant speed along a circle
HTTC Hrgas” 28 S V6 HAF BodI0 BdYS

Options :

No acceleration is produced on the body

| % DAY eﬁsdi‘rﬁé b smc

No work 1s done on 1t

, o S0P DS DI 2O

3. %
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Its velocity remains constant
D fgdnﬁ“ oo

No force acts on the body

, e D DS VAN D BARED

Question Number : 85 Question Id : 5447341525 Display Question Number : Yes Is Question
Mandatory : No

A particle of mass 5 kg is moving on a circle of radius 1 m with an angular velocity of

2 rad.s™*. The centripetal force is

5 kg 93 8 SBAS 8 S0 1m TYFgo $BAN w8 2)820p 2rad. 57 oD dod
SCLEN) B. wawd ¥dSeduvo Jod?

Options :
1 % 10N
> % 40N

5 % 30N

4 20N

Question Number : 86 Question Id : 5447341526 Display Question Number : Yes Is Question
Mandatory : No
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A body of weight 64 N 1s pushed with just enough force to start it moving across a horizontal
floor and the same force continues to act afterwards, If the coefficients of static and dynamic

frictions are 0.8 and 0.6 respectively, the acceleration of the body will be

64 N &rGo $DHR 28 SrYR £82VETeSE SVAVY SHT JSHVMT werd) VArfod,
SOTS & VAN §IT Ao, D8 bk A8S 2udes s SR 0.8
20803 0.6 a8, &8 HWY) AE), BB Jod?

Options :

1 0.2¢g

g

L« 0.64g

g

4 gg 6.4’

Question Number : 87 Question Id : 5447341527 Display Question Number : Yes Is Question
Mandatory : No

An object 1s in equilibrium when four concurrent forces.

acting in the same plane, are i the directions shown w the i H
figure. Find the magnitudes of Fy and F;. 309
60°
26" BrD DBV 4 BRE LED S0 28 s G

SR ‘rbwfg@eﬁs &) &. oand Fj, F, © 283rmren F,

Options :
2 & i 20 i
1% V3 V3
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N & =N

N
&
il -

-
l“‘:'lwl
(%]

N & =N

al»

Question Number : 88 Question Id : 5447341528 Display Question Number : Yes Is Question
Mandatory : No

Assertion (A): In an elastic collision of two billiard balls. the total K.E. is conserved during
the short time of collision of the balls (1.e. when they are m contact).

Reason (R): Energy spent against friction does not follow the law of conservation of energy.
QA8 (A) : Bot eﬁ@obgh Bodhow igagv::g DATBA0ES", G0 (82 3 wotow)
Ry BTG SO’ DB(B¢A0 Do,

5060 (R) : 2080 a5aas;§m 30300 3S 38 D@5e35 Q0503030 ot

Options :

Both A and R are true and R 1s a correct explanation for A
A 0800 R Godr 28 o). R, A £ 20200 DoHdes

Both A and R are true but R is not a correct explanation for A
A 08030 R Sotir 28 2900202, R, A £ 2890008 D568 ¢

A 1s true. R 1s false

3 % A 20 o8, R 26 ondd st

4.+
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A is false. R 1s false
A 200800 R 20 20008 52

Question Number : 89 Question Id : 5447341529 Display Question Number : Yes Is Question
Mandatory : No

A bullet of mass 30 g moving with 700 m.s™* collides with a block of mass 4 kg hanging by
a string of length 0.4 m. After collision, the block rises to a height of 0.2 m. Then find the

velocity of the bullet when it comes out of the block

0.4m FED) 6o - A Jercdabecd 4 kg @703 o B0y, 30 g BI0°3 AR
e 700 m. s 3308 ¢Eod. BTSN ST & B2 0.2m L Sidob.
e ge ) R0t LOHLS) SWNBPE & D

Options:
200 m.s™?

-1
5 433 m.s

5 % 400 m.s™?

4 % 332 m.s !

Question Number : 90 Question Id : 5447341530 Display Question Number : Yes Is Question
Mandatory : No
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A body of mass 3 kg is moving with a velocity of 8m.s™ collides head on with another body of
mass 1 kg, moving in the opposite direction with a velocity of 4m.s™>. After the collision. if the
two bodies stick together and move. they move with a common velocity

3kg 8303 S8R w8 S Bm.s™! Siand Dy, TS 530w B3S" Sddwd
5408) L kg o3 $8A% 208308 S90S darind ediradwd’ FE'8) 6. eDirddn
ST, & Botd HRPL B8 J 28 ﬁ;ﬁa&&, Diod D008, & am&& Mo

Options:

; ="
1 5 m.s

Question Number : 91 Question Id : 5447341531 Display Question Number : Yes Is Question
Mandatory : No

Moment of inertia of a disc of radius ‘R’ about a diametric axis is 25 kg.m?. The moment of
mertia of the disc about a parallel axis at a distance ‘R /2" from the centre 1s

‘R’ a“é&gm) 10 28 %) BES( FFASH0 T TR BLH0 DEAT 25 k. m? . Go@aw
ot ‘R/2° GRG0 DAFedH 850 DONT T Cﬁnéb ad@s PSRN Wod?

Options :
1 = 31.25 kg. m?

> % 37.5 kg.m?

3 50 kg.m?
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4 % 625 kg.m?

Question Number : 92 Question Id : 5447341532 Display Question Number : Yes Is Question
Mandatory : No

A wheel is rotating at 480 rpm. Find the magnitude of angular acceleration required to stop

the wheel in 8 seconds?

8 BEAN 480 rpm Bend Fdorren GBSt 6. & B0 8 VS TRANS DT
206"D3 53, & Eetad d(imo ), HOATH0 Jods?

Options :

: =
1 ¢ 21 rad.s

> % 25T rad.s™?

3 % 2rad.s™?

4 % 3.5 rad.s™ 2

Question Number : 93 Question Id : 5447341533 Display Question Number : Yes Is Question
Mandatory : No

AP EAPCET 2021



AP EAPCET 2021

Three thin rods each of length ‘L’ and mass ‘M " are placed along x. y and z axes in such a
way that one end of each of the rods is at the origin. The moment of inertia of this system

about z-axis 1s:
) sg‘. T L’ 0Bobo @03 ‘M (0 e Hesd
SC0R X, y B0 Z 0 Jotd Gold HO $& E) DY

R e Dotdv D6 o). Z VL0 DO & ;575;5;3
RES] GOSN od?

Options :
2 ML?

1.v 3

4 ML?

5 ML?

MIL2

4. % 3

Question Number : 94 Question Id : 5447341534 Display Question Number : Yes Is Question
Mandatory : No

The displacement of a simple harmonic motion of amplitude 6 cm when its kinetic energy 15

equal to its potential energy is
(833, fg@%éé 008, 6 cm S0 DBLA (v ROYTTE) S B0 g"ééoé.fm _

Options :
1 % 2V2 em
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> % 2 cm

3 3\.@ cm

3
T=cm

o5 V2

Question Number : 95 Question Id : 5447341535 Display Question Number : Yes Is Question
Mandatory : No

A particle executing simple harmonic motion has a maximum speed of 40 m.s™* and

maximum acceleration of 60 m. s 2. The period of oscillation is

208 g0 40 m. s~} (3033 JESA) 208050 60 m. s> 108 @Scea;m&ﬂm ROY TS
OB Bed. T ST HEHIN

Options :

AT
T
1.4+ 3

Question Number : 96 Question Id : 5447341536 Display Question Number : Yes Is Question

Mandatory : No
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An arfificial satellite moving 1n a circular orbit at a distance h from the centre of the earth has a

total energy E,. Then its Potential energy is

108 Sothw Ao h GrES08" M%) HTTE SL1° ALMHAD) a8 &S EORPAY
230 ¥8 £,$00 69) 6. o 230 38

Options:
1. % —E,

4.v %o

Question Number : 97 Question Id : 5447341537 Display Question Number : Yes Is Question
Mandatory : No

Find the angular speed of rotation of the earth so that the apparent-‘g’ at the equator becomes
(1/6)™ of its original value. (R = 6.4 X 10° m)

1
000 56 ‘g g, ¢y¥ Desd FrHdBV 3¢ s Ve — 3 S0 TGI8,
e aing), Eebad Srfw (R =64 x10°m)
Options:

% 13x107° rad.s™"

, % 875X 107* rad.s™*

, —3 -
3 v 114 %3107 yad. g
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4 % 2.6 X10° rad.s™*

Question Number : 98 Question Id : 5447341538 Display Question Number : Yes Is Question
Mandatory : No

The length of a rod under longitudinal tension T, 1s L; and that under longitudinal tension T, is

L,. What is the actual length of the rod. in the absence of tensions?

28 sé;g 2RWR wmggé dden T;, dasw T, © Hv TR TG S0a0m Ly,
208030 L, . $38 HABaHYYE $¢ Ty

Options :
LiT; — LT,
% T-Tp
LTy — LTy
5 % 5+T;
LiTy — LT
N
LiT, — LT,
T —T.
4 5=y

Question Number : 99 Question Id : 5447341539 Display Question Number : Yes Is Question
Mandatory : No

Bernoulli’s theorem is a consequence of
867y ® hg“oej;ip B ARG, DE[HI D507

Options:
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Conservation of mass
- Q;ﬁ?gn“%‘ 3@5@5 0S50

Conservation of energy
%3 3@5@5 4 Tent Pubiu bl
2.¢¥ -

Conservation of linear momentum

L, DD S5 DG et

Conservation of angular momentum

. 3o GO1DA Dadgedg DoSBOB0

Question Number : 100 Question Id : 5447341540 Display Question Number : Yes Is Question
Mandatory : No

Hairs of shaving brush cling together when it is removed from water due to

2006 3 0 AS" Aol WAHL BRI BoEB"D Dot BAGT BBE)D
GoltrAS (v S°EAL

Options :
Force of attraction between hairs

- QoL ;5_)(;’}5 35063

Surtace tension

> @u@x@@

Viscosity of water

- 56 B0E), iaigej
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Characteristic property of hairs
n Dot DL GG}, 50

Question Number : 101 Question Id : 5447341541 Display Question Number : Yes Is Question
Mandatory : No

Oxygen boils at —183 °C. This temperature 1s approximately
Hé;jeaﬁ —183 °C 3¢ M. & Egﬁﬁ@ QoL
Options :

1 % 215°F

> v —297 °F

5 % 329°F

4 % 361°F

Question Number : 102 Question Id : 5447341542 Display Question Number : Yes Is Question
Mandatory : No

The water on the surface of a lake 1s just about to freeze. The most likely temperature at the
bottom of the lake is

w8 Ry as) 20800 N6 (3¢ Snddok. DY D &P €0 &gﬁrjé Qodh?

Options:
1. ¢ B

2 % 0°C
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3 % —4°C

« 273

Question Number : 103 Question Id : 5447341543 Display Question Number : Yes Is Question
Mandatory : No

Three designs are proposed for an engine which is to operate between 500 K and 300 K. Design
A claims to produce 150 J of wotk per 1000 J of heat nput. design B 450 T of work per 1000 I

and design C 300 T of work per 1000 J. Which of the designs would you choose?

500 K 8050 300 K e 30655 9050 8 abogedn 565 Sured SdurTen 283 Bors
nEaw. A 3P 99 10007 63128 1501 539, B 3300 99 10007 & 4507 £39,
200 50 10001 4 3007 53 6\3 Braw. MG D drT 8 dorkookriy?

Options :
A

None 1s suitable
DA DBz
4. ®

Question Number : 104 Question Id : 5447341544 Display Question Number : Yes Is Question
Mandatory : No
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A Carnot engine having an efficiency 1/5 as a heat engine. is used as a refrigerator. If the work done on

the system 1s 50 J. the amount of energy absorbed from the reservoir at lower temperature 1s

wS$ &) 0hodidw B888° 1/5 2 Hodo (88 (L wé 56 ) ogry H80esm QDogT Tad.
255D 200 57 50 e 88y &t 29 Ssersabin dod Fhoded $8

Options:
1 % 9017]

5 % 997
3 » 2007

4.% 1J

Question Number : 105 Question Id : 5447341545 Display Question Number : Yes Is Question
Mandatory : No

A Carnot engine whose efficiency 1s 40 % takes in heat from source maintained at a temperature
of 500 K. It 1s desired to have an engine of efficiency 60 %. Then. the mtake temperature for

the same exhaust (sink) temperature must be

0% T80 &) SB)aedan 500K 668 AGiretnt 48 2o ol IV
BR0E otwod. & abodaw aws), &mgs:m 60 %. &otrod S8, BB Dok &gﬁﬁé bl
250 &gﬁ@ Dot Gotrd?

Options :

.« 1200K

, » 750K
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5 % 600K

4 % 800K

Question Number : 106 Question Id : 5447341546 Display Question Number : Yes Is Question
Mandatory : No

A vessel has 6 g of oxygen at pressure ‘P’ and temperature 400 K. A small hole is made in it

so that oxygen leaks out. How much oxygen has leaked out if the final pressure 1s = and final

temperature is 300 K ?

P arcidim AoBosw 400 K '8 98 28 g 6 g 3yad e ¢BhaoR) 6. &
FBE) DR Gogad) SIS B8RS TN LrFSRMW. 300 K arjero 206030

P
DA 74 Dod 38180 TV DEVBERN?

Options :
% 29

Question Number : 107 Question Id : 5447341547 Display Question Number : Yes Is Question
Mandatory : No
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At what temperature does the velocity of sound i air increase by 10% in comparision with
velocity at 0°C ?

0°C ;‘)%ﬁ e’ q&si] SeA0S ﬁ"ﬁl?_\_;s, 10% 266w Q &g‘rj@ .;5-:3 SeB00B?
Options:
1. % 45 °C

, @ 57°C

3 % BT

4 % 18°C

Question Number : 108 Question Id : 5447341548 Display Question Number : Yes Is Question
Mandatory : No

4 ; . 4 o . Wit -
If refractive mndex of water is T and that of a given slab immersed i it 15 o The value of critical

angle for a ray of light tending to go from glass to water is:

4 5
58 2825599 frgaw < 308080 TR6" dmotstdad ws e ) 382853 HEsaw =
©and 2 Aot JDE'DS patredos wg Tod doman ding) ot Eac

Options :
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Question Number : 109 Question Id : 5447341549 Display Question Number : Yes Is Question
Mandatory : No

In a double slit experiment. when the distance between shits is mcreased 10 times, while their
distance from the screen 1s halved, then the fringe width

28 Gotd DY HardAwe’, B 068§ (0 &r02) 10 08 o0 Dgen 20bod 36%
30655 (0 (e A0ri B9, D8 Dy DinBoos?

Options :
& , e
Becomes (ﬁ) times the original
1
(E) 08 2Bl

1.4

3 5 T ;3
Becomes (ﬁ) times the original

1
(—) Ot 9aDB0od
5 90

Femains the same

AGH[DTT Eotodd
3. B o

1Y . (.
Becomes (E) times the original

1
(ﬁ) Ot 2BVl
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Question Number : 110 Question Id : 5447341550 Display Question Number : Yes Is Question
Mandatory : No

Two charges 480 pC and 420 pC are separated by a distance i air. An unknown third charge
q 1s placed at the centre of the line joining the two charges. If the charges are in equilibrium,

then g =

+80 uC 0808 +20 uC esd700 " Eodd AreANG” MGG &) 0. & Botdd
o537 600 B 206 Dok 3¢ g & 3o J0rE DT tod, Hé?&)ﬁlﬂﬁb
RBODR %‘v@eﬁﬁ Gowd, g =

Options :
1 —20 uC

|, t20uc

L % —10uC

P U

Question Number : 111 Question Id : 5447341551 Display Question Number : Yes Is Question
Mandatory : No

If the circumference of a sphere is 3 m. the capacitance of the sphere in water is

(dielectric constant of water = 80)

28 Bin danEod 3 m and HB6" Hysw Gg), SOy dod? (D8 oy Bese
E}U"oé;ﬁw = 80)

Options :
1« 4250 pF
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4 2760 pF
. 2780 pF

, % 424 DF

Question Number : 112 Question Id : 5447341552 Display Question Number : Yes Is Question
Mandatory : No

An electric dipole 1s placed i a non-uniform electric field. Then net:
28 DSOS G DANS SBANS” 28 DS BT &S, TP DIBOI

Options :

force experienced is zero while torque 1s not zero
VB HPR(HD TR E7E), HERLHD W

torce experienced is zero and torque is also zero
D00 B €0, Toter BIPRIDW

both force and torque are not zero
200 B0 G, Sod BRI S°Y

force experienced is not zero while torque may be zero depending on its orientation
LVBN HFRDW TG T EPG), T BN 0 AP0 S

Question Number : 113 Question Id : 5447341553 Display Question Number : Yes Is Question
Mandatory : No
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The null point of a potentiometer with a cell of emf ‘e’ 1s obtained at a distance ‘' on the wire
then

Dore e &) Db sD0d TOirdns 6% & vetowd T T
0BoBEAR. B\

Options :

1#&‘0{!

Question Number : 114 Question Id : 5447341554 Display Question Number
Mandatory : No

Figure shows a straight wire placed between the pole pieces of a p

magnet. Induced emf will be developed across the ends of the
wire when 1t 1s moved towards . g

D008 PR Dol 28 BR) D B ALY 0d BTV 2
Goustaciots. ©ONS A D B3Y" SANKYYW, & NS0V
205 D0 HOSDYB08?

Options :
1.% N

AP EAPCET 2021
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Question Number : 115 Question Id : 5447341555 Display Question Number : Yes Is Question
Mandatory : No

A solenoid has 2000 turns wound over a length of 0.30 m. The area of its cross-section is

1.2 X 107 m. Around its central section. a coil of 300 turns is wound. If an initial current of 2 4

in the solenoid is reversed in 0.25 s. the e.m.f. induced in the coil 1s equal to:

0.30 m Teisp) $8A% 28 TBrowd 2000 o sDAED) 6. T g o8 drodw
12107 m. v 3065] giaws’, 300 cotio $8% Bricon 69)6. T & &) &9
TR0 24, 025 2696° 3080 636" ptroier §7), Sty 60 208 Do Dewd?
Options :

| % 6X107%V

T
, o 48X 1072V

6X1072 V

3. %

48 kV

Question Number : 116 Question Id : 5447341556 Display Question Number : Yes Is Question
Mandatory : No
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An ac source of angular frequency w 1s fed across a resistor R and a capacitor C in series. The
: ; : : = : w
current flowing 1n the circuit found to be 'T'. now the frequency of the source 1s changed to =

(maintaining the same voltage) the current in the circuit 1s found to be halved. What 1s the

ratio of reactance to resistance at the original frequency?

w8 DEGEaw R S0bain 83006 € o 336" Erdab Fdpagan o dv AC 23508

$DF00. SLADAVY’ DTN I. 2620 YA % § 3o (68 S04 dogrir)
SUOLANE’ HTTD WS ©HA0B. wHe THYIED 96 DTG,

DB @A/ o .i')?’q;]@
Options:
S
1. % &
2
4
2. %
o
3
3.¥
7
5
4, ®

Question Number : 117 Question Id : 5447341557 Display Question Number : Yes Is Question
Mandatory : No
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An LC resonant circuit contains a 400 pF capacitor and an inductor of 400 uH. It is coupled to

an antenna. Wavelength of radiated electromagnetic wave is

28 LC 00076 Hvahan 400 pF 36 20805 400 uH 205"y S@ﬁoinél&. T

WS o) ’&oodnrié.‘.m @R, 36&35::501)5“609‘.@ B0t S0 édoﬁ%m Dodh?

Options :
1« 754 m

5 % 377 m

3 & 377 cm

796 m

Question Number : 118 Question Id : 5447341558 Display Question Number : Yes Is Question
Mandatory : No

The ratio of speed of electrons in the first excited state of hydrogen atom to the speed of light

11l vacuum is . Given, Planck’s constant = 6.625 X 107> I. s and permittivity of free
space s 8.85 X 1072 F.m™}

TEED DoArmY g, e eded Fang’ &9) JUFD ), T3, Hrjd
o SIS o A (308 Ho050=6.25 X 107 .5, Ardy ardgw cwg,
20,806 =8.85 x 1072 F.m™)

Options :

|« 5x107°

5 % 7.3%x107°
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5 v 36x 1073

—3
, « 36510

Question Number : 119 Question Id : 5447341559 Display Question Number : Yes Is Question
Mandatory : No

The following figure shows a logic gate circmit with mputs ‘A’ and ‘B and output ‘Y. If the

voltage wave forms of 4, B and Y are as given. then the logic gate is

DA Totd) Jaddwen ‘A” Hbdaiw ‘B, I)g;ﬁ.mn Y'do ejc% TSU":)J AR, ADF
A, Bo S000in :)g:u Yoo geé SGo20L) RDE0N. & &) L0

SR RS O P S 7
] | E ) E ! i
A | : |
0 : ; S —
Ae—A :
Logic Gate oV B
B Circuit 0 : : : : : :
L
4 o i
. L8 :
Options :
1 % NOR gate
5 % OR gate

3 % AND gate

4 NAND gate

AP EAPCET 2021
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Question Number : 120 Question Id : 5447341560 Display Question Number : Yes Is Question
Mandatory : No

In an amplitude modulation with modulation index 0.5. the ratio of the amplitude of the carrier

wave to that of the side band 1n the modulated wave is

SrEBAS MRS 0.5 &) S0 D8RO SrTRSES’, TS Boft o 28BS
0808 AFETS B0 98 DS SodRDONHS 20 0 Vi

Options :
1 ¢ 4 :1
2% 1t 4
3 % 122
4% 21

Chemistry
Section Id : 54473430
Section Number : 3
Mandatory or Optional : Mandatory
Number of Questions : 40
Section Marks : 40

Enable Mark as Answered Mark for Review and
Yes
Clear Response:

Question Number : 121 Question Id : 5447341561 Display Question Number : Yes Is Question
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Mandatory : No

Which energy level transition among the following will have the least wavelength?
208 33Jan HBIGT LS’ DA o3[Oy S6HFT Dy SOA Eoto?
=% = =D

Options :

n

| % 4—?*?1

3

Question Number : 122 Question Id : 5447341562 Display Question Number : Yes Is Question
Mandatory : No

Calculate the de Broglie's wavelength of an electron residing in the 2% Bohr’s orbit of a

Hydrogen atom. (Bohr’s radius, a, = 0.529 A)

TERS HOATEPS’ Totid 56 38 g“cmeﬁ& (o QTS oRE), ce'h oG

(t5°6 jdo a, = 0.529 A)

Options :
1 % 02116 nm

> 2116w A
21.16 m

3. ®
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4 % 2116 pum

Question Number : 123 Question Id : 5447341563 Display Question Number : Yes Is Question
Mandatory : No

If the wavelength of the first line in Balmer series is 656 nm. then the wavelengths of its

second line and lmuting line respectively are

erA06 353" 2068 B aog), @Goﬁ“@_g%o 656 nm ©00d. & Totts 3 B0 ©5H
B30 S6ofBT L0 AT
5 §

Options :

1 % 4859 nm & 434 nm

4859 nm & 3644nm
2.

3 % 715 nm & 434 nm

608 nm & 415.2 nm
4. ®

Question Number : 124 Question Id : 5447341564 Display Question Number : Yes Is Question
Mandatory : No

Which of the following compounds 1s expected to be colored?
Sobd “n}&éﬁmweﬁé D& Bord OB GotoB wacémt)?

Options :
ZnS0,
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MgCl,
3 @ CucCl,

Question Number : 125 Question Id : 5447341565 Display Question Number : Yes Is Question
Mandatory : No

- v I i j :
The formation of oxide ion 07 from oxygen atoim requires an exothermic reaction. followed by an
endothermic step as shown below. The process of formation of 0% in gas phase is unfavorable

(AH® = +ve). even though it has stable configuration of the nearest noble gas, Neon. This is

because
- - &y -1
O(g} te”— O(g) . AHY = —141 kJ.mol

0" +e"— 0% AHO = +760 k].mol™}
(g) (g)

S0 D DA DT Aodk 831E 07 oS Doy a8 36" aarse
€0 S0 Tocied (53¢° GTPS Wdf 20D, BOIFRE) e &)y el Ne Da“g‘n}o
&) 08, FosF RS 0% oyt w3%08rwo (AHO = +1e), dothrsesd T
= - = —3
O(g) +e — O{g} . AHY = -141kJ.mol

+e — 0% AH® = +760 kI.mol ™

O(y) (g)

Options :
0°" has larger size than that of Neon

- DaAIFrD o8l 027 e9airDd HBATM0 DE6 STB0 DO

Oxygen 1s more electronegative than Neon

. DOIFD Sobd ejé:jaa.% 295S mmb@sw@&éé £ORI0EIL SN,
2.
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O has larger size than oxygen atom
Hé:}aha DEATEVD) €08l 0 903D HBST0 DOE TR0 DON.

Electron repulsion in oxide 1on 1s more which over comes the stability achieved by noble
gas configuration
GI)R 7O JVFD DT[Ro Tocoees” edethd ;’:36@50 S0 aird & Jugd

D566 S0 S e.efaﬁe:bso (ST AS AT
4.4 ° ?

Question Number : 126 Question Id : 5447341566 Display Question Number : Yes Is Question
Mandatory : No

Identify the correct order of ionic radii of the given species:
208 S35 eairds méb“gu 28 00D SN

Options :

T+ 5 31 ¥ 2
1$3Mn > V > Sc = K =8

- -|- . .
) g K ow gptt 5 At o 't

2— . + 54 . 3+ . 7+
3335 = K" W > Sc > Mn

4 % Kt = 5% = 563 =yt = ™

Question Number : 127 Question Id : 5447341567 Display Question Number : Yes Is Question
Mandatory : No
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Arrange the following species in the correct order of their stabilities.

$08 230V T DOT R D/ $50:0065" 9206~ 0C
N> , C;,Ne, 05
Options :

Lo Nez < - i, &NT

5 % NE‘Z = Cz o Oz_ﬁwz_

3 % Ne;, << Ny < 05 <€,

I 2_ e I 30T
® LVEE = OE = :'\lrz = CE

Question Number : 128 Question Id : 5447341568 Display Question Number : Yes Is Question
Mandatory : No

The different tvpes of bonds present in CuS0, - 5 H,0 are

CuS0, -5 H,0 &5° 6o erofre 8530

Options :

Only Ionic and Covalent
903 DS SO0 PVAWMTRA0D ATSD

Only Ionic. Covalent and Coordinate covalent
05 DE, DACITRACK SBA%N VBOVLOL VBICITRACK S-SR

Only Covalent. Coordinate covalent and Hydrogen bonding

- RRATBAD, P2DIODH DAATFRBAD HBKD TFESS woddn Hrddd
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Tonic. Covalent. Coordinate covalent. Hydrogen bonding only
 Lairds, PAAPRAAD, DRILAD DLEFBAAD S8 FERD oA JrD

Question Number : 129 Question Id : 5447341569 Display Question Number : Yes Is Question
Mandatory : No

A real gas would be most likely to obey the ideal gas laws at

28 A2 T050Y) ::ai’gmmﬁ‘ 5650, T°000 AoDAE) WVBEE 8 ErdotiItiyy

Options :

low temperature and low pressure
0y XS 080K WOy DEo

high temperature and low pressure
008 & (S J0B05L ey SHEDo

high temperature and high pressure

06 (S 20005 &S HEDo
3. ®

low temperature and high pressure

L w O &'(56 20BosL &S Do

Question Number : 130 Question Id : 5447341570 Display Question Number : Yes Is Question
Mandatory : No

Among the following, identify the gas which has the greatest average speed of its molecules?

408 TaiNHS’ Q T (18R Roritw STy §0R Gotomy?
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Options :
0.5 mol of O, at 500 K
. 500 K .:1%5 0.5 dorenew O,

0.2 moel of CO, at 400 K
. 400 K 56 0.2 arevw €0,

1.0 mol of He at 200 K

200 K 56 1.0 doreow fHe
3. v @

0.4 mol of NH; at 300 K
. 300 K &6 0.4 arevw NH;

Question Number : 131 Question Id : 5447341571 Display Question Number : Yes Is Question
Mandatory : No

3.011 x 10*? atoms of an element weigh 1.15gm. The atomic mass of the element is
28 Srugaw aog) 3.011 X 102 Hearmw erodn 115gm. & resy) @3

Options:

1 % 10amu

5 % 2.3 amu

3 % 35.5 amu

4 23 amu
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Question Number : 132 Question Id : 5447341572 Display Question Number : Yes Is Question
Mandatory : No

In Fegqs0 , Fe is present in +2 and + 3 oxidation state, what is the mole-fraction of Fe?* i

the compound?

Feyss0 &, Fe aiog) ed\gonin 95 +2 0001 +3. & 23 vaswe’ Fe'* ars
P dodh?

Options :
1 % 12/25

, x 25/12
5 % 1/12

4 o 11/12

Question Number : 133 Question Id : 5447341573 Display Question Number : Yes Is Question
Mandatory : No

The change in internal energy equals

©030S $56°D 60y £ DATDHAD

Options :

Isothermal work
mmvtgs 2o

Isochoric work

6 DADBATEIAD DA
2.% @
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Isobaric work
26 hets D

Adiabatic work

, ., e

Question Number : 134 Question Id : 5447341574 Display Question Number : Yes Is Question
Mandatory : No

If the molar solubility (in mol. L™*) of a sparingly soluble salt AB 4 15 ‘5", and the corresponding

solubility product is ‘K", then § in terms of K, is given by the relation

B S $07 AB, 03 vdto Y Arerb GHEOS 'S, S0 Béy0dd Tk
Vedo K’ Bowd. § daw Ky, © 06 Rotloto

Options :

. 128

1.

9 256

. 1/5
L §'=(256K;)

; 1/4
L s={128K, )
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Question Number : 135 Question Id : 5447341575 Display Question Number : Yes Is Question
Mandatory : No

, — ; . =
Given K, for the 1‘eact1011?C A(g o= B at a fixed temperature is 0.25 atm ™2

Then find the K, for the reaction A ) + B @ = C () the same temperature,

3 i T
%)CS &gﬁﬁé b:g z C{. ) = zﬂm) s B( €98 ::56553 Ky Qe 0.25 atm
A[:g) + B{QJ = € @ E9AL ::’:(555.) (Ll eg%j@ ;ﬁ%& K, Qe doch?

Options :

16

2.33 25

Question Number : 136 Question Id : 5447341576 Display Question Number : Yes Is Question
Mandatory : No

Which of the following solution produces H, 0, on electrolysis?

& OO ToETes” b 3@5:555@3‘153&3“ Hy0; & Q6800807

Options :

, « 0.2NNaOH

v"" 5{]{};[! HESD4
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4. % 5% NaCl

Question Number : 137 Question Id : 5447341577 Display Question Number : Yes Is Question
Mandatory : No

The tendency of forming chloride hydrates of alkaline earth metals 1s in the order of

6 08¢ O §06 TEG 00 6105 R(EPHAD dwE), S04

Options :
1 & Ba>5r, Ca> Mg

5 % Sr > Ba, Mg > Ca

3 @ Mg = Ca, 5r > Ba

4 % Mg > Sr = Ca > Ba

Question Number : 138 Question Id : 5447341578 Display Question Number : Yes Is Question
Mandatory : No

The product(s) of the reaction NaBH, + I, —— ‘Products’ 1s/are
& 308 n‘.‘}tiéejf& 5.'){5:}::.‘.3 S D / &d\T) e

NaBHy + I; —— &3yT 0

Options :

\ % BaHal, + 2 Nal

, % B2He + NaH + HI
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3 BEHE * 2 Nal + Hz

4 % 2NaBH,I

Question Number : 139 Question Id : 5447341579 Display Question Number : Yes Is Question
Mandatory : No

Match the following?

Material Application
(1)  As acatalyst
(a) Silicones
(1) Greases
(i11) In surgical implants
(b) Zeolites
(iv) As ion exchangers
Sod T w06 ?
ﬁm‘g‘m GO
(1) eddsswr
(a) NOs"Den —
(i) Hered’
(i) 3Q D83y TG
(b) &cirgden =
(iv) e0ire dahsorr
Options :

1 ¢ (a—ii),(a—iii),(b—1i),(b—iv)

, x (a—i),(a—iil),(b—ii),(b—iv)
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4 x (a—1),(a—iv),(b—ii), (b —iii)

Question Number : 140 Question Id : 5447341580 Display Question Number : Yes Is Question
Mandatory : No

The correct order of increasing stabilities of the following carbocations.
(1)  Allyl carbocation
(1) Ethyl carbocation
(111) Benzyl carbocation
(1v) Isobutyl carbocation
208 58 RIS ?mad@"5v 383379 S0 BN,
(i) TS 5Ty 5°008°D
(ii) &3S sP sl
(1) oS S“SQE"&JQ&J“«E
(iv) DTS B 505D
Options :

1% (v) < (iii) < (i) < ()
> » (V) < (i) < () < (i)
3 % (i) < (v) < (1) < (iD)
4 % (ii) < (Ov) =< (i) < ()
Question Number : 141 Question Id : 5447341581 Display Question Number : Yes Is Question

Mandatory : No
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Which of the following is not an electrophile?

S0 TS JVEDPS A &?

Options:
1.« CN~

> % BF3;

+
3. % N0

4 AlCLs

Question Number : 142 Question Id : 5447341582 Display Question Number : Yes Is Question
Mandatory : No

0.765¢g of an acid gives 0.535g of €0, and 0.13g of H,0 then ratio of percentage of
Cand H 13

0.765g 3023 0.535g C0, 20 3080 0.13g Hy0 236, 6t &8 € 208t H

v oTTR D%@

Options :
1_\;‘,,‘,,1‘?3!: 2
5 % 18: 11
3 % 20: 17
4.% 17
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Question Number : 143 Question Id : 5447341583 Display Question Number : Yes Is Question
Mandatory : No

Using Duma’s method for estimating nitrogen. 1 g of an organic compound ‘X" gave 82 ml of
nitrogen. collected at 27 °C and 750 mm Hg pressure. If the aqueous tension at 27 °C 1s

30 mm Hg pressure. then the percentage of nitrogen in the given compound X is

DT B3 DOATTE) oI Lo 3080 CATD DEHE" 1 g 86\ ¥ X', 27 °C
206050 750 mm Hg 6o 36 82 ml © 3620 20y6. 6 668 36 I8 Rody)
e.?‘fqbﬁbciao 30mmHg ™ &ofl, ‘X’ ﬁﬁ)&#éotﬁé RS TS0 dod?

Options :
1 % 22.09 %

5> 88.36 %

5 % 4418%

4 % 70.69%

Question Number : 144 Question Id : 5447341584 Display Question Number : Yes Is Question
Mandatory : No

Identify the incorrect statement regarding crystals having Frenkel defect:
208D 5050 (L DBV DotoBot) $o& DIBT VL IO SiYy?

Options :

Frenkel defects are observed where the difference 1n sizes of cations and anions 1s large.

. Do8Y) 200050 SIS PV’ I D SEr &) Py 205G 6 DA ABJotseIcR)
1.

2. &
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The density of crystals having Frenkel defect is less than that of a pure perfect crystal.
2058 &0l v P8540 dg) Fogd DOED WG e Fod Sod &8 Gotiod

An 1onic cerystal having Frenkel defect may also contain Schottky defect.

. D036 &°0w SR &) waIrds \BSAD ) S FI)Sre $9A Goctdudy

Alkali halides don’t usually have Frenkel defect.

4 FTEEAVT 6 POE L8 3056 §°DHAW Gokitd

Question Number : 145 Question Id : 5447341585 Display Question Number : Yes Is Question
Mandatory : No

Which of the following is not an ideal solution?

BAD RIS TrorTod SBS\T"Oe0 SIS &7

Options :
Benzene and Toluene
| BodS Dboin &°05

Chloro-benzene and 1,2-dichloro benzene

- 6 Bo&d H8oiw 1,2- E58 S0dd

Methyl 1odide and Isopropanol

v DBS ODrEE 208030 DI THIS

Ethyl bromide and Methyl bromide

) S5 EE 2050 DBS 5 E
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Question Number : 146 Question Id : 5447341586 Display Question Number : Yes Is Question
Mandatory : No

The mole-fraction of a solute 1 one molal ethanolic solution would be

(Given. molecular mass of ethanol = 46.07 g.mol ™)

1 e 96TD8 g (G 96TS wmgHo3 = 46.07 g.mol™) gdde 3rS

o

Options :
1. % 021

, % 0.52

3 v 0.044

Question Number : 147 Question Id : 5447341587 Display Question Number : Yes Is Question
Mandatory : No

If the decomposition reaction A5y — B(g) follows first order kinetics. then the graph of

rate of formation of B. denoted by R. agamnst time ‘t” will be

Aig) — By ™ &b Doﬁrﬁﬁcﬁs 08 DO oS WOf WO, WY\ B bcﬁbﬁ g
(R ™ Arootiescd) Sodow t sodwe 6 Dotot Arot Gar g

Options :

-~

R
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R -
|'|;I
4
/
_ﬁ--’-ﬂ.f e
2. % :
R
\
"
3. ;
-
R
I/-'. =
.-'f "‘l‘
4. % :

Question Number : 148 Question Id : 5447341588 Display Question Number : Yes Is Question
Mandatory : No

If for a hypothetical reaction, E, = 0 at 273 K. then find the ratio of the rate constants at 383 K.

NS ﬁaﬁsééé tﬁﬁé&b 273K 20 E,=0.e C.’JCSSS) 273 K nBadn 383 Ko bg 0w %U"o?v
Wnd

Options :

2.v 1
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4« 100

Question Number : 149 Question Id : 5447341589 Display Question Number : Yes Is Question
Mandatory : No

If the rate constant of a first order reaction is 4.606 X 107 s7%, then find the time required for

400 g of the reactant to reduce to 50 g.

5 DO SAT0S :36?5 olnsb [o[3V) ngoSo 4606 X 1073571 400 g Soiradsaw 50 g o
@f;oms; :}%J.D Lo

Options :

7.52 minutes

- 7.52 DIren

0.45 minutes

5 % 0.45 doIrew

46.06 ninutes
5 x 46.06 DIren

15.05 minutes

4 % 15.05 doJren

Question Number : 150 Question Id : 5447341590 Display Question Number : Yes Is Question
Mandatory : No
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In general, for soaps. the concentration of surfactantat CMC isaround  mol.L7!
T g ('r‘oogg HVRT) &gﬁgje:&) 3¢ ey ot "fodﬁoes o (surface active agent) mge
030 molL™?
Options:

10—4 -3
1.\?,10 to 10

, % 107%t0 107

3 % 1077 t0107*

4 % 107410 10%2

Question Number : 151 Question Id : 5447341591 Display Question Number : Yes Is Question
Mandatory : No

Which reaction among the following gives nascent oxygen?

S0B Ddoasens’ o D WO| Dddered €282 BRI

Options :

| % N{TESOE “+ CEE

NaOH + Cl, ——
2 %

_— Ca(OH); + Cl, ——

4 o Cla+H0 ——
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Question Number : 152 Question Id : 5447341592 Display Question Number : Yes Is Question
Mandatory : No

Molecular bromine on reaction with three moles of molecular fluorine produces an mter halogen

compound. The total number of lone pairs at the central halogen atom 1s

28 A7 1S er, Wr e o TS vrYHod 56 Jobd, 8 wodd ;&ad
) ¢d) DOYEERD. Sods S ad DEATEYD G wotd AUT 2000 o

Options:

1.8 3

Question Number : 153 Question Id : 5447341593 Display Question Number : Yes Is Question
Mandatory : No

The gases liberated when zinc reacts with dilute and conc. HN 05 respectively are
208, Haw Hdato e ANO,; & €3 mmambm DEAE STPAi0)RD

Options :

.« No,No,

, % NO,N,0
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.« N20,NO

4 v N20,NO,

Question Number : 154 Question Id : 5447341594 Display Question Number : Yes Is Question
Mandatory : No

Which of the following gives the maximum number of 1ons in aqueous solution?

308 :Jm“g“m%‘ D8 20 TS BSOS ;baapée.‘i‘ SOOIV JBYEE?

Options :
1 % Ni(C0),

2 % CUCIg ) E}Hzg

, o PtCly-6 NH;

. [Cr(VHs) (NO,),]

Question Number : 155 Question Id : 5447341595 Display Question Number : Yes Is Question
Mandatory : No

AP EAPCET 2021



AP EAPCET 2021

Match the following based on valence bond theory?

Hybridization Geometry Complex structure
(a) sp® (i) Square planar (p) [Fe(CN)(]*
(b) d%sp? (i) Tetrahedral (@ [ZnCl]*
, , 2+
(c) dsp? (iii) Octahedral () [NI(NH?':H]
©) [Aglem,]

;:363):] £)0% fatg‘o@om 0900800 BSB0DeE?

nesEsEe0 858 'rﬁnéé}o 30"&8@:&)

(a) sp® (i) Square planar (p) [Fe(CN)e]*~

(b) d?sp? (i) Tetrahedral (@ [ZnCL)*

(c) dsp? (iff) Octahedral (o) [Ni(vH),]"
() [Ag(cw),]

Options :

o (a—ii—q), (b—iii—p), (c—i—r)

(a—it=—=q), (B—iii—r), (c=1=5)

2. ®
3 % (a—i—q), (b—iii—p), (c—ii—1)
n (a—ii—r), (b—iii—s), (c—i—q)

Question Number : 156 Question Id : 5447341596 Display Question Number : Yes Is Question
Mandatory : No
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Match the following vitamins with their sources and the corresponding diseases caused by their

deficiency?
Vitamins Sources Diseases
(a) Vitanun-B, (1)  Egg-whites (p) Convulsions
(b) Vitamin-B, (1) Fish (q) Pernicious anemia
(¢) Vitamin-By (111) Green vegetables (r) Cheilosis
(d) Vitamin-B,, (iv) Grams (s) Beri-Beni

& B Rrot)d DLV T &S g"a‘m SoBakn T &0 o Sy T(ER

508 asidasosn?
QODD N Fdo >0
- o

(@) DR - B, () Ao By T (p) S Btto

(b) QoS - B, (i) Boew (q) PSRN Ggares

() DS - By (iii) 20\ srorahe (1) 8659

(d) QD3 - By, (iv) %2y Bl (s) ©6-00
Options:

. (a—ii—r),(b—iv—p),(c—iii—s),(d—i—q)

, (a—iv—p),(b—ii—q),(c—i—r),(d—iii—s)

3 ¢ (a—3it—=s5){b—-i—1){c—-—v—-plid—ii—9q)

n (a—i—q),(b—iii—s),(c—ii—r),(d—iv—p)

Question Number : 157 Question Id : 5447341597 Display Question Number : Yes Is Question

Mandatory : No
AP EAPCET 2021
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Identify the compound (B) in given reaction.
806 B3(e° B 20 #3250

KCN H/H20
CH,Cl ——— (4) L S

Options:

. % CH3NH,

, « HCOOH

, o CH3COOH

4 % CHyCOCH3

Question Number : 158 Question Id : 5447341598 Display Question Number : Yes Is Question
Mandatory : No

Identify the product of the following reaction:

808 BO(S° DO\E Ed D)0 DA?

T

CH,—C—0Na+CHs€l ——> 27
-
CH.

Options :

I::IH3
|
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CH,
C2H5 _C_U — CEHE

CHs

I
|
CH,

4 % HaC—0—C;Hs

Question Number : 159 Question Id : 5447341599 Display Question Number : Yes Is Question
Mandatory : No

The reaction of “tert-butyl methyl ether” with one equivalent of HI gives
28 0 Bov ar6w HI 8 &8aid VD) DES &35 0] 2008 DOV BT

Options :
tert-butyl 1odide & methyl 1odide
66 (S LELEE 2Bat) P BAEE

1so-butene & methyl iodide
2’ (@S 208t WPES BAEE

1so-butene & methanol

2’ LS B WeIeS

tert-butyl 1odide & methanol

, v 58 e0fBs eaingé Dobain GBS
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Question Number : 160 Question Id : 5447341600 Display Question Number : Yes Is Question
Mandatory : No

Nucleophilic addition reaction will be most favored in which among the following compounds?

A airBs doswd tbRR b A THE’ Bd(ed BRErPUD ¥

Options :
1% CH;CH,CHO

, » CH3CHO

0
I
CH,CH,CH;,” CH,

3. %

0
ﬁ
' H,C~ “CH,
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